
Name: LösungsschlüsselMultiplikation mit Dezimalen (visuell)

Mathe www.CommonCoreSheets.de 6 1-6 83 67 50 33 17 0

Antworten

1.

18⁄10 = 1,8

2.
276⁄100 = 2,76

3.
194⁄100 = 1,94

4.

150⁄100 = 1,5

5.

6⁄10 = 0,6

6.

4⁄10 = 0,4

Wende die visuelle Methode an um jede Aufgabe zu lösen.

1) 3 • 0,6 =

2) 4 • 0,69 =

3) 2 • 0,97 =

4) 2 • 0,75 =

5) 2 • 0,3 =

6) 2 • 0,2 =



Name: LösungsschlüsselMultiplikation mit Dezimalen (visuell)

Mathe www.CommonCoreSheets.de 6

Antworten

1.

18⁄10 = 1,8

2.
276⁄100 = 2,76

3.
194⁄100 = 1,94

4.

150⁄100 = 1,5

5.

6⁄10 = 0,6

6.

4⁄10 = 0,4

Wende die visuelle Methode an um jede Aufgabe zu lösen.

1) 3 • 0,6 =

2) 4 • 0,69 =

3) 2 • 0,97 =

4) 2 • 0,75 =

5) 2 • 0,3 =

6) 2 • 0,2 =

1-6 83 67 50 33 17 0


